
Práctica Unidad 1 
 

 

 

Vector A: 

𝐴 = (0𝑚; −8𝑚) 

Vector B: 

𝑥𝑏 = sen(30°)  15𝑚 = cos(60°)  15𝑚 = 7,5𝑚 

𝑦𝑏 = cos(30°)  15𝑚 = 𝑠𝑒𝑛(60°) 15𝑚 = 12,99038106𝑚 

𝐵 = (7,5𝑚; 13,0𝑚)  

 

a)i)  

𝐴 + 𝐵 = (0𝑚; −8𝑚) + (7,5𝑚; 12,99038106𝑚) = (7,5𝑚; 4,99038106𝑚) 

|𝐴 + 𝐵| = √(7,5𝑚)2 + (4,99038106𝑚)2 = 9,008546114𝑚 ≅ 9,01𝑚 

𝛼𝑎+𝑏 = 𝑎𝑟𝑐 𝑡𝑔 (
4,99038106𝑚

7,5𝑚
) = 33,63916434° = 33,6° 

 

a)ii)  

𝐴 − 𝐵 = (0𝑚; −8𝑚) − (7,5𝑚; 12,99038106𝑚) = (−7,5𝑚; −20,99038106𝑚) 



|𝐴 − 𝐵| = √(−7,5𝑚)2 + (−20,99038106𝑚)2 = 22,29004479𝑚 = 22,3𝑚 

𝛼𝑎−𝑏 = 𝑎𝑟𝑐 𝑡𝑔 (
−20,99038106𝑚

−7,5𝑚
) = 70,33785997° + 180° = 250,33785997° = 250° 

 

b) i) 

−𝐴 − 𝐵 = −(0𝑚; −8𝑚) − (7,5𝑚; 12,99038106𝑚) = (−7,5𝑚; −4,99038106𝑚) 

|−𝐴 − 𝐵| = √(−7,5𝑚)2 + (−4,99038106𝑚)2 = 9,008546114𝑚 = 9,01𝑚 

𝛼−𝑎−𝑏 = 𝑎𝑟𝑐 𝑡𝑔 (
−4,99038106𝑚

−7,5𝑚
) = 33,63916434° + 180° = 213,63916434° = 214° 

 

b) ii) 

𝐵 − 𝐴 = (7,5𝑚; 12,99038106𝑚) − (0𝑚; −8𝑚) = (7,5𝑚; 20,99038106𝑚) 

|𝐵 − 𝐴| = √(7,5𝑚)2 + (20,99038106𝑚)2 = 22,29004479𝑚 = 22,3𝑚 

𝛼𝑎−𝑏 = 𝑎𝑟𝑐 𝑡𝑔 (
20,99038106𝑚

7,5𝑚
) = 70,33785997° = 70° 

 

 

 

 

Vector A: 

𝐴 = (0𝑚; −8𝑚) 

Vector B: 

𝑥𝑏 = sen(30°)  15𝑚 = cos(60°)  15𝑚 = 7,5𝑚 

𝑦𝑏 = cos(30°)  15𝑚 = 𝑠𝑒𝑛(60°) 15𝑚 = 12,99038106𝑚 

𝐵 = (7,5𝑚; 13,0𝑚)  

 

Vector C: 

𝑦𝑐 = − sen(25°)  12𝑚 = −5,071419141𝑚 = −5,07𝑚 

𝑥𝑐 = − cos(25°)  12𝑚 = −10,87569344𝑚 = −10,9𝑚 

𝐶 = (−10,9𝑚; −5,07𝑚)  



Vector D: 

𝑥𝑑 = − sen(53°)  10𝑚 = −7,9863551𝑚 = −7,99𝑚 

𝑦𝑑 = cos(53°)  10𝑚 = 6,018150232𝑚 = 6,02𝑚 

𝐷 = (−7,99𝑚; 6,02𝑚) 

 

  

𝐴 = (0𝑚; −8𝑚) |𝐴| = √(0𝑚)2 + (−8𝑚)2 = 8𝑚

𝐵 = (7,5𝑚; 13,0𝑚) |𝐵| = √(7,5𝑚)2 + (13𝑚)2 = 15𝑚

𝐶 = (−10,9𝑚; −5,07𝑚) |𝐶| = √(−10,9𝑚)2 + (−5,07𝑚)2 = 12𝑚

𝐷 = (−7,99𝑚; 6,02𝑚) |𝐷| = √(−7,99𝑚)2 + (6,02𝑚)2 = 10𝑚

 

 

a) 

𝐴 . 𝐵 = |𝐴| |𝐵| cos 𝛼 = 8𝑚 15𝑚 cos(150°) = −103,9230485𝑚2 = −104𝑚2 

 

b)  

𝐵 . 𝐶 = |𝐵| |𝐶| cos 𝛼 = 15𝑚 12𝑚 cos(145°) = −147,447368𝑚2 = −147𝑚2 

 

c)  

𝐴 . 𝐶 = |𝐴| |𝐶| cos 𝛼 = 8𝑚 12𝑚 cos(65°) = 40,571355313𝑚2 = 40,6𝑚2 

 

 

 

𝐴 𝑥 𝐷 = |𝐴| |𝐷| sen 𝛼 = −8𝑚 10𝑚 𝑠𝑒𝑛 (127°) = −63,8908408𝑚2 𝑘 = −63,9𝑚2 𝑘 

𝐷 𝑥 𝐴 = |𝐴| |𝐷| sen 𝛼 = 8𝑚 10𝑚 𝑠𝑒𝑛 (127°) = 63,8908408𝑚2 𝑘 = 63,9𝑚2 𝑘 

 



 

a) 

𝑥𝑎 = 2,80𝑚 cos(60°) = 1,4𝑚 

𝑦𝑎 = 2,8𝑚 sen(60°) = 2,424871131𝑚 

𝐴 = (1,4𝑚; 2,424871131𝑚) 

 

𝑥𝑏 = 1,9𝑚 cos(60°) = 0,95𝑚 

𝑦𝑏 = −1,9𝑚 sen(60°) = −1,645448267𝑚 

𝐵 = (0,95𝑚; −1,645448267𝑚) 

 

𝐴 + 𝐵 = (1,4𝑚; 2,424871131𝑚) + (0,95𝑚; −1,645448267𝑚)

= (2,35𝑚; 0,7794228634𝑚) 

 

|𝐴 + 𝐵| = √(2,35𝑚)2 + (0,7794228634𝑚)2 = 2,475883681𝑚 = 2,48𝑚 

𝛼 = 𝑎𝑟𝑐𝑡𝑔 (
0,7794228634𝑚

2,35𝑚
) = 18,34909834° = 18,3° 

 

b)  

𝐴 − 𝐵 = (1,4𝑚; 2,424871131𝑚) − (0,95𝑚; −1,645448267𝑚) = (0,55𝑚; 4,070319398𝑚) 

|𝐴 − 𝐵| = √(0,45𝑚)2 + (4,070319398𝑚)2 = 4,095119046𝑚 = 4,10𝑚 

𝛼 = 𝑎𝑟𝑐𝑡𝑔 (
4,095119046𝑚

0,45𝑚
) = 83,69120322° = 83,7° 

c) 

𝐵 − 𝐴 = (0,95𝑚; −1,645448267𝑚) − (1,4𝑚; 2,424871131𝑚)

= (−0,55𝑚; −4,070319398𝑚) 

|𝐴 − 𝐵| = √(−0,45𝑚)2 + (−4,070319398𝑚)2 = 4,095119046𝑚 = 4,10𝑚 

𝛼 = 𝑎𝑟𝑐𝑡𝑔 (
−4,095119046𝑚

−0,45𝑚
) = 83,69120322° + 180° = 263,69120322° = 264° 



 

a) 

Vector A: 

𝑦𝑎 = sen(70°)  3,6𝑚 = 3,382893435𝑚 = 3,38𝑚 

𝑥𝑎 = cos(70°)  3,6𝑚 = 1,231272516𝑚 = 1,23𝑚 

𝐴 = (1,231272516𝑚; 3,382893435𝑚) 

𝐴 = (1,23𝑚; 3,38𝑚)  

𝐴 = 1,23𝑚 𝑖 + 3,38𝑚 𝑗 

Vector B: 

𝑦𝑏 = − sen(30°)  2,4𝑚 = −1,2𝑚 

𝑥𝑏 = − cos(30°)  2,4𝑚 = −2,078460969𝑚 = −2,08𝑚 

𝐵 = (−2,078460969𝑚; −1,2𝑚) 

𝐵 = (−2,08𝑚 ; −1,2𝑚 )  

𝐵 = −2,08𝑚 𝑖 − 1,2𝑚 𝑗 

b) 

𝐶 = 3,00 𝐴 + 4,00 𝐵 

𝐶 = 3,00 (1,231272516𝑚 𝑖 + 3,382893435𝑚 𝑗) − 4,00 (−2,078460969𝑚 𝑖 − 1,2𝑚 𝑗) 

𝐶 = 3,693817548𝑚 𝑖 + 10,14868031𝑚 𝑗 + 8,3213843876𝑚 𝑖 + 4,8𝑚 𝑗 

𝐶 = 12,00766142𝑚 𝑖 + 14,94868031𝑚 𝑗 = 12,0𝑚 𝑖 + 14,9𝑚 𝑗 

 

c) 

|𝐶| = √(12,00766142𝑚)2 + (14,9𝑚)2 = 19,17412256𝑚 = 19,2𝑚 

𝛼 = 𝑎𝑟𝑐𝑡𝑔 (
14,94868031𝑚

12,00766142𝑚
) = 51,22651607° = 51,2° 

 

 

 



 

a) 

 

 

 

 

 

𝐴𝑦

ℎ
=

13𝑚

ℎ
= 𝑐𝑜𝑠 (32°) ⇒ ℎ = 15,32931924𝑚 

 

𝐴𝑥 = 15,32931924𝑚 𝑠𝑒𝑛 (32°) = −8,123301575𝑚 = −8,12𝑚 

b) 

|𝐴| = √(−8,123301575𝑚)2 + (13𝑚)2 = 15,32931924𝑚 = 15,3𝑚 

 

 

a) 

 

 

 

 

 

 

 

 

 

𝛼𝑏 = 𝑎𝑟𝑐 𝑡𝑔 (
2

3
) = 33,69006753° 

32,0° 
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𝛼𝑎 = 𝑎𝑟𝑐 𝑡𝑔 (
2

6
) = 18,43494882° 

𝛼 = 33,69006753° + 18,43494882° = 52,12501635° = 52,1 

 

b) 

 

 

 

 

 

 

 

 

 

𝛼𝑏 = 𝑎𝑟𝑐 𝑡𝑔 (
6

10
) = 30,96375653° 

𝛼𝑎 = 𝑎𝑟𝑐 𝑡𝑔 (
5

3
) = 59,03624347° 

𝛼 = 59,03624347° − 30,96375653° = 28,07248694° = 28,1° 

 

c) 

 

 

 

 

 

 

 

 

𝛼𝑏 = 𝑎𝑟𝑐 𝑡𝑔 (
14

7
) = 63,43494882° 

𝛼𝑎 = 𝑎𝑟𝑐 𝑡𝑔 (
4

2
) + 90° = 153,43494882° 

𝛼 = 153,43494882° − 63,43494882° = 90° 
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𝑥𝑎 = cos(30°)  100𝑁 = 86,60254038𝑁 

𝑦𝑎 = sen(30°)  100𝑁 = 50𝑁 

𝐴 = (86,60254038𝑁; 50𝑁)  

 

𝑥𝑏 = −sen(30°)  80𝑁 = −40𝑁 

𝑦𝑏 = cos(30°)  80𝑁 = 69,2820323𝑁 

𝐵 = (−40𝑁; 69,2820323𝑁)  

 

𝑥𝑐 = −cos(53°)  40𝑁 = −24,07260093𝑁 

𝑦𝑐 = −sen(53°)  40𝑁 = −31,9454204𝑁 

𝐶 = (−24,07260093𝑁; −31,9454204𝑁)  

 

(86,60254038𝑁; 50𝑁) + (−40𝑁; 69,2820323𝑁) + (−24,07260093𝑁; −31,9454204𝑁) +

𝐷 = (0; 0)  

(22,52993945𝑁; 87,3366119𝑁) + 𝐷 = (0; 0) 

𝐷 = (−22,52993945𝑁; −87,3366119𝑁) 

 

|𝐷| = √(−22,52993945𝑁)2 + (−87,3366119𝑁)2 = 90,19579785𝑁 = 90,2𝑁 

 

𝛼 = 𝑎𝑟𝑐 𝑡𝑔 (
−87,3366119𝑁

−22,52993945𝑁
) = 75,53495938° + 180° = 255,53495938° = 256° 

 


